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& When f(x) is increasing,
the slopes of the tangent lines for f(x) are positive.

$0) e = £y >0

#* When f(x) is decreasing,
the slopes of the tangent lines for f(x) are negative.

fx) dce = §£1(x) <O

#* When f(x) is neither increasing nor decreasing,
the slopes of the tangent lines for f(x) are zero or DNE.
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Draw a Sketch of f'(x) given f(x)

® Notice when f'(x) =0
(slopes of tangent lines are 0, horizontal tangent lines)
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@ Notice when f'(x) > 0 %
(positive slopes of tangent lines are 0, f (x) is increasing)
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® Notice when f'(x) < 0 «
(positive slopes of tangent lines are 0, f(x) is decreasing) 9 =po #&=——F— c
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